
Spiel 1 Spiel 2 Gesamt

Spiel 001 10:13 A 1 HAHN Ernst 57 + 52 = 109 #

A 2 WITTNER Hans 41 + 44 = 85

Spiel 003 10:27 A 3 GRUBER Helmut 38 + 36 = 74

A 4 GRÜNSTEIDL Josef 46 + 42 = 88

Spiel 005 10:41 A 5 LEUTGEB Johann 45 + 48 = 93

A 1 HAHN Ernst 51 + 59 = 110 # #

Spiel 007 10:56 A 2 WITTNER Hans 42 + 43 = 85

A 3 GRUBER Helmut 54 + 27 = 81 #

Spiel 009 11:09 A 4 GRÜNSTEIDL Josef 37 + 47 = 84

A 5 LEUTGEB Johann 43 + 53 = 96

Spiel 011 11:23 A 1 HAHN Ernst 51 + 65 = 116 # #

A 3 GRUBER Helmut 52 + 35 = 87

Spiel 013 11:39 A 2 WITTNER Hans 45 + 42 = 87

A 4 GRÜNSTEIDL Josef 46 + 36 = 82

Spiel 015 11:53 A 3 GRUBER Helmut 47 + 53 = 100 #

A 5 LEUTGEB Johann 40 + 25 = 65

Spiel 017 12:06 A 4 GRÜNSTEIDL Josef 53 + 51 = 104

A 1 HAHN Ernst 55 + 51 = 106

Spiel 019 12:22 A 5 LEUTGEB Johann 55 + 44 = 99 #

A 2 WITTNER Hans 39 + 44 = 83


